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Vue%aérienne%
du%site%



Vue%Entrée%cité%
des%jardins%



Accès%Stands%de%3r%
depuis%la%cité%des%jardins%



La%Fédéra3on%Française%de%Tir%envisage%
de%réaliser,%sur%le%site%de%la%Mar3nerie,%

le%projet%suivant%:%

E%Zone%de%Vie%%
E%Stand%10%m%%
E%Stand%25%m%%
E%Stand%50%m%+%50%m%CM%%
E%Stand%200%m%%
E%Stand%600%m%%
E%Stand%Plateau%%
E%Parcours%de%chasse%%
E%Tir%Spor3f%de%Vitesse%%



Plan%Masse%
PROJET%



Stand%10%m%

•  90%postes%de%3r%(3%x%30%postes)%mutualisés%avec%:%
•  40%postes%arbalète%match%
•  4%installa3ons%Cible%mobile%

Emprise%stand%:%120%x%25%m%(soit%3%000%m²)%



Exemple%:%Stand%10%m%E%site%de%Volmerange%(57)%



Stand%25%m%

•  40%postes%de%3r%

Emprise%stand%:%48%x%43%m%(soit%2%064%m²)%
Zone%couverte%:%48%x%15%m%(soit%720%m²)%



Exemple%:%Stand%25%m%E%site%de%Volmerange%(57)%



Extrait%du%manuel%«%Installa3ons%de%Tir%Spor3f%»%



Stand%50%m%
•  80%postes%de%3r%
Emprise%stand%:%120%x%70%m%(soit%8%400%m²)%
Zone%couverte%:%120%x%15%m%(soit%1%800%m²)%

Stand%50%m%(Cible%Mobile)%

Emprise%stand%:%40%x%70%m%(soit%2%800%m²)%
Zone%couverte%:%40%x%15%m%(soit%600%m²)%

•  2%installa3ons%



Exemple%:%Stand%50%m%E%site%de%Volmerange%(57)%



Stand%Plateau%

•  5%installa3ons%

Emprise%stand%:%environ%44%600%m²%



Espace%Arbalète%Field%

Implanta3on%prévue%sur%le%stand%plateau%
(afin%d’accueillir%des%compé33ons,%une%zone%de%135%m%de%large,%
soit%90%postes,%sur%100%m%de%profondeur%doit%être%disponible)%



Stand%Tir%Spor3f%de%Vitesse%
•  Capacité%de%30%alvéoles,%répar3es%sur%5%zones%

Emprise%totale:%5%x%2%500%m²%(soit%12%500%m²)%

Chaque%zone%de%3r%comprend%:%
•  1%alvéole%«%longue%»,%de%40%x%20%m%
•  2%alvéoles%«%moyennes%»,%de%20%x%20%m%
•  3%alvéoles%«%courtes%»,%de%15%x%20%m%



Stand%200%m%

•  40%postes%

Emprise%stand%:%83%x%212%m%(soit%17%600%m²)%
Zone%couverte%:%83%x%12%m%(soit%1%000%m²)%



Exemple%:%Stand%200%m%E%site%de%Volmerange%(57)%



Stand%600%m%

•  40%postes%

Emprise%stand%:%83%x%612%m%(soit%50%800%m²)%
Zone%couverte%:%83%x%12%m%(soit%1%000%m²)%










